POWIATOWY URZAD PRACY W GNIEZNIE - RYNEK PRACY W MIESIACU GRUDZIEN 2018r.
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1. |OGOLEM 144 415 2357 | 1464 | 564 262 729 | 1048 | 176 438 78 15 112 192 0 5
2. |m. Gniezno 66 263 1196 | 712 233 99 396 543 110 205 46 9 75 93 0 2
3. [m.g. Czerniejewo 7 408 102 60 28 17 30 39 4 26 4 0 2 10 0 0
4. [m.g. Ktecko 7 544 110 76 33 18 28 38 6 22 6 0 4 8 0 0
5. |m.g. Trzemeszno 14 168 211 140 57 30 61 85 17 49 2 0 2 18 0 2
6. |m.g. Witkowo 14 887 286 185 78 45 82 143 19 47 4 0 4 13 0 0
7. |g. Gniezno 12174 147 87 441 12 37 56 3 35 6 2 6 24 0 1
8. |g. Kiszkowo 5407 64 39 18 8 19 35 4 10 4 1 3 3 0 0
9. |g. Lubowo 6 547 75 51 22 11 22 31 8 17 3 2 14 9 0 0
10. |[g. Mieleszyn 4 052 77 52 26 12 28 31 3 12 0 0 0 8 0 0
11. |g. Niechanowo 5 965 89 62 28 10 26 47 2 15 3 1 2 6 0 0
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POWIATOWY URZAD PRACY W GNIEZNIE - BEZROBOTNI ORAZ POSZUKUJACY PRACY WEDLUG CZASU
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